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’ 100kN/mM##BZ % 1.00/ 000 ~ 0.73 110.94|3mZEBZD| - ~ = - -| 100kN/MZE#B 2% 1.00| 1412 ~ 17.10 110.94|3m%i#B% % =~ = - -
TS 1.00]0.73 ~ 852 100.00] Zhlist | 000 ~ 852 286 15.02 ZTh LS 1.00] 500 ~ 14.12 100.00f Zh it | 500 ~ 17.10] 2.86 15.02
9 100kN/mM#%#8Z % 1.00] 000 ~ 241 137.73|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00[ 10.90 ~ 20.69 137.73|3m%#BZ % =~ = = =
ZThLS 1.00] 2.41 ~ 10.20 100.00] ZHlist | 0.00 ~ 10.20] 2.89 1513 Zh LS 1.00] 500 ~ 10.90 100.00| Zh it | 500 ~ 20.69| 2.89 15.13
3 100kN/mM#%# 8% % 1.00/ 000 ~ 2.16 133.58|3m%#8x%(0.00 ~ 0.10] 3.07 16.08| 100kN/m%# 2% 1.00| 12.00 ~ 21.28 133.58|3m%i#B% 5| 20.00 ~ 21.28| 3.07 16.08
Zh LS 100216 ~ 995 100.00] Zh st |0.10 ~ 995 3.00 15.73 Zh LS 1.00] 500 ~ 1200 100.00| #hlist | 5.00 ~ 20.00] 3.00 15.73
4 100kN/mM#%# 8% % 1.00/ 000 ~ 246 138.57|3mZi#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.65 ~ 20.73 13857|3m%i#B% % =~ = = =
ZThLS 1.00] 2.46 ~ 1025 100.00] #hLis4t | 000 ~ 10.25| 281 14.72 Zh LS 1.00] 500 ~ 10.65 100.00| Zhlist | 500 ~ 20.73] 2.81 14.72
5 100kN/mM#%#8Z % 1.00/ 000 ~ 124 118.78|3mZi#BZ 5| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.39 ~ 1953 118.78|3m%i#B% % =~ = = =
ZThLS 1.00] 1.24 ~ 903 100.00] #hList | 000 ~ 903 2.11 11.08 Zh LS 1.00] 500 ~ 1239 100.00| Zh st | 500 ~ 19.53] 2.11 11.08
6 100kN/mM#%#BZ % -l -~ = -|3mZz#BZzZ| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
ZhLS -l -~ = -| #hist = ~ = = = Zh LS = -~ = -| Zhilst =~ = = =
7 100kN/mM##BZ % 1.00{0.00 ~ 228 135.52|3m%EHE %% -~ = = -| 100kN/ %8z % 1.00| 10.54 ~ 20.03 135.52|3m%E#B %% =~ = = =
Zrn Lot 1.00| 2.28 ~ 10.07 100.00] Zh st | 0.00 ~ 10.07] 2.68 14.07 Zh st 1.00f 5.00 ~ 10.54 100.00f Z1List | 500 ~ 20.03| 2.68 14.07
8 100kN/mM##B % % 1.00{ 0.00 ~ 3.38 154.34|3m%# 25| 0.00 ~ 0.23] 3.12 16.35| 100kN/m#%#BZ % 1.00{ 10.55 ~ 35.37 154.34|3m%#EZ 5| 25.00 ~ 35.37| 3.12 16.35
ZnLst 1.00] 3.38 ~ 11.17 100.00] Zh st |0.23 ~ 11.17] 3.00 15.73 Zh st 1.00f 5.00 ~ 10.55 100.00f Z1List | 500 ~ 2500 3.00 15.73
9 100kN/m##BZ % 1.00] 0.00 ~ 3.61 158.44|3m%#8% 5| 0.00 ~ 057 3.32 17.42| 100kN/m%#8 x5 1.00| 10.77 ~ 34.74 158.44|3m%#E% 5| 25.00 ~ 34.74| 3.32 17.42
ZnLst 1.00] 3.61 ~ 11.40 100.00] Zh st | 0.57 ~ 11.40] 3.00 15.73 Zh st 1.00f 5.00 ~ 10.77 100.00f Z1List | 500 ~ 2500 3.00 15.73
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
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Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZHNLS ~ ZThLLst ~ ZTHLS ~

DiE
..H.\
m|



